RBPFTIBFBZALABAIR

% - #iF - BE

F g EEZW FAEEEE
Mg whhE EER =2

g

O 4 /RIR Tk X F kR4t



REERiE o P 5 s
A EE

58 74 71

T & EE¥ G
W dhat EER £ H
%W A KBRS F 4 K%

W oRIR_Dlk R st



KERBSRTHHEE
SHE-BE - W%
£ 1 4
Daxue Yingyu Fenji Shiyeng Jiaocheng
Yuedu Fanyi Jianda
% TEH HHE
*
W ROR T A K AR R R AT
F R R PR TR
*

A RS0 %1168 1732 IS8 7 ¥ 208 FF
1998 FF ORI AR 1998 F 12 HEE 2 R
F%E 1—11 o0
ISBN 7-5603-1345-0-11+119 241 (21043 )40.00 i



(RFREDRILAIGE
BEiE- #}iE - mED)
RES

=FR TEKR

BEE FPUEE

R T (BEHREXNHEF)

I o A 3 A ek
¥ AEER OAREZX ARE



il

Al

HT 20 LA, R ERE b
B CREFOE R R AW b . K2 HEH 20 B
R ERFERAEBRN ST, — WS,
ERA A ITRURE A TARRES. FRETR
— B AR A NI R, A A M A 4
SRR, WE T 5 5% 28 0955 & MR RE 1, FIRe
2 T HR 29 2 HE 078 U0 BB 9 B 0 R 46 1 1 S 0
HHE .

SBFRIST IR, Bl — % PUAR A — 4, PO 240 35 (A
PETRAR VR IURIRTE P . B R4 3040 WAL Y 4
g AR, MBS HAMBERESHIE—F
W SR, BB fF 8 B A B4R R T I T i
TUG T4 SRR A0 W 3 T {3 2 5 52 BR 3R I PR 3B 0
BRI IR, LU FI e MBS G B,
R HERR, B HBEY AR, T AN S
BB AR . FEHE 46 W R M B O T A R ) 4 K
BT GEREE, GEHEESEATRAERERT
— S ISR L S BE TG, 3F BAE T Ok B 0 40 TR ik —
B . 52 RIRAR I 4F — 2 O0 M4 T B 0 EE , B VO
SCERA = 1 W AR 5 T R RN SV L

“h



A RERXERALTAMOER, EME2, FUE
(e p e is) b =4b 2 — B, BT R A ({0 4% 38 %
PAEEE) =02 —. FAXEEEN AR ES
BE KE SNE0RASETEHARRANE. &%
) B R AR, o R B R TR R T

TAHE. X T REZRNABN LR E 8 22 LR
Br(—ZEWE) 1% A0 R a B iy, Ao a5 B o AL
B W HA TR

Ao INBERAEANEREERLCRE W, BH
FRR R AN AT IR IRE R CAFE B,

% #
1998 5+ 9 A



B =R

E—849 ATER -BEFE-AEEESAM

Directions - B |

K-S EHAE
TIRIE (e v e v v emvanm e mr ottt et ra e s e e 2
Uﬂil I“DUT Mam RN Y m 4 b N4 B mA e m e R RN RN R A e r AN L Lan das Erw e mmmEaE wErap 33
Ul‘lil Five A e e he bl e A E e B a kb madmmk b de s wam tes ek mad mms e mmm g m g 45
lJl’llt Sl\( e Sﬁ
o
Unit INime =orormmrr e smm e s snn st anatas cnvse s i nrees B2
UL e evsereo eenersseresemmsmns sosnsmen sissnsmsesssrssoesenresers G0
Unii Elevtn frm mam ek mai mae i m e pea EmE s mAE RE A mia 4 panamE e mEs maa s 110
Uﬂil Twelve N RN A A AN RN TR PR AR AN ANE EA A e Nk Ak et E a e p omad e dan 120
UIlit Thirteen M am s m e mma m e m s e w e aw oA e mAE e e s amr et bE AN Eae 130
UTI“ k‘ouneen MM amsaan TEs U aaErs mmmams aEd s EmAaE hisaramasatie EmEmay ma 140
Unit Sixteen T R T T T T e 161
[ttt Severtean v reserrrrrtaie i s e asiasne |72
U]’lil Eigh[t‘-&'ﬁ O E N e N b P4 e e B R4 e AT R RN et rad e dam Fam e s a e s 182
Unil Nineleen e AN AN AU T EA P R P S R4 P Ee R L dmm B Ak A s b ek am b ks [93
Unit TWETII}' L hmm e AN A am R R EEE AR FE A RAN AR B V4S P AT E AN A ak BB i B 203



=8 SZER
Unit Qg cvesemeererrseaorsensian
Uit TTWE = remrermmeerssmsreenmsns e e s e s as s e e
Unit Three
LIDit Faum serereerrmer o vor s susss thiansves snametasiere s e
Utit Five seererersvne smnmmams areaneamornomsansassasaes s
Unit Six
Unit Seven
Unit Eight
Unit Nine seeess e seeermesoosamammaansmns s hn i saremsmis es st et
Unit Ten
Unil Ele",en S T L LT TR T T T N T
ULl Twelye =-evorserrereneeeramsesnannsmsmss et obis e trnes s
Unit Thirteen
Unit Fourteen
Unit Fifteery o ve s e sessss s sntimmnns o marn s rr s e aan s
UL SIXE@EIL ++7 vveormse oteratar srs e sas st sre s nr s an saen s
Unit SEVEntean =«r« e tesistesass ormraanstns s st e
Unit Eighteen
Unit Nifeteen  ««--s e srrass e eessiasss s anans s sesenssresiononses

Unit Twenty -

EmEa RILR

GlOSSATY  =r++v s +nsre wesramams sor b s s e

© 214

215

© 216

217

—. 7218
- 219
- 220
- 221

222

- 223
- 224

225

¢+ 226
- 227

228
229
230

- 231

232

- 233



S BIBIERAR - B WA AR U

Directions

Section One Reading Comprehension {35 minutes)

There are 4 passages in this purt. ach pessage is followed by some
quesiions or unfinished stotements . For each of them there are four chotees
marked Ay, B}, €Y and D). You should decide on the best choice and
mark the corresponding lctter on the Answer Sheet with a single line

thraugh the renfr .

Section Two Translation from English into Chinese
(15 minutes)

In this part, there are fiwe items which you showld translaie inio Chi-
nese , each item consisting of one or two sentences . These sentences are all
taken from the reading possages you have just read . You are allowed 15
minades to do the transletion . You can refer back io the passage so as to i-

dentify their meanings in the context .
Section Three Short Answer Questions (15 minutes)
In this part there is a shart passage with five questions or incomplete

stalements . Read the passage carefully. Then answer the questions or com-
plete the statements in the fewest possible words |



Unit One

Section One Reading Comprehension
Passage One
Questions 1 to 5 are based on the following passage:

Even though the majority of Americans would lind it hard to imagine
what lile could be like without a car, some have bepun to realize that the
antormobile has both good and bad effects. Traffic accidents are incrcasing
steadily and large cities are troubled by 100 many aulomobiles. Worst of
all, perhaps, is the air pollution caused hy the intemal-combustion en-
gine. Every car engine burns hundreds of gallons of fuel each year and
discharges hundreds of pounds of carbon monoxide and other gases into
the air. These gases are one source of the smog that hangs over large
cities, Some of these gases are poisonous and dangerous to health, espe-
cially for someone with a weak heart or a respiratory disease.

One answer to the problem of air polletion is to build a car thas does
not pollute. That’s what several major automobile manufacturers are try-
g to do. DBut building a clean car is casicr said than done. So far
progress has been slow. Anolher solufion is to eliminate car fumes aho-
gether by gewting rid of the intemal-combustion engine. Inventors are now
working on cars powered by steam and clectricity. But most of us won "t
he driving cars mun on balteries or hoiling water in the near future. Many
aute makers helieve that it will take years to develop practical models that

are powered by electricily or steam.
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To rid the world of pollution many peeple believe we must make
some fundamental changes in the way many of us live. Americans may,
for example, have 1o reduce the number of privately owned cars and de-
pend more on public mass transportation systems. Certainly the exiensive
use of new tmnsportation systems rould reduce traffic congestion and air
pollution. But these changes do not come easily. Sometimes they conflict
with other urgent problems . For example, if a factory closes dovm because
it cannot meet government pollution standards, a large number of workers
will suddenly find themselves without jobs.

1. Which of the following might 1 the best title for the passage”
A) People’s Anxiety Over Air Pollution.
B) Air Pollution and lts Possible Solutions.
C) Prospects of Public Transportation Systems.
D) Air Pollution and Tts Bad Effects.

2. It can be known from the passage that

A) cars run on hatteries will sbon come into existence

B) Americans prefer public mass transporiation systems

) intemal-combustion engine is Tesponsible for air pollution

D) people with respiratory diseases suffer more if they travel by car
3. How many solutions are mentioned in the passage lo the problem of air

pollution?

AY One. B) Two. C) Three. ~ D)) Four.

4. The author ends the passage with an example which shows fhat

A} i is not so difficult to make people change their way of life

B) factories should roly on workers for profit

C) government pollution standards are popular among the workers

D) changes in people’ s way of life will sometimes cause other urgent

probleos

03-



5. Which of the following is not mentioned as the bad effects of autorno-
biles?

A} Noise pollution. () Poisonous gases in the air.
3) Traffic accidents. D} Treffic jam.
Passage Two

Questions 6 to 10 are based on the following passage:

When & consumer finds that an item she or he bought 1s faultv or in
some other way does not live up Lo the manufactarer’ s claim for it, the
first step is to present the warranly, or any other records which might
help, at the store of purchase. In most cases, this action will produce re-
sults. However, if it does not, there are various means the consumer may
use lo pain salisfaction .

A simple and common method used by many consumers is to com-
plain directly to the store manager. In generl, the “higher up” the con-
sumer takes his or her complant, the faster he or she can expect it to be
seltled. In such a case, it is usually setiled in the consumer’ s favour.
assuming he or she has a just claim.

Consumers should complain in person whenever possible, but if they
cannot get to the plare of purchase, it is acceptable to phone or write the
complaint in a letter.

Complaining is usually most effective when it is done politely but
firmly, and especially when the consumer cun demonstrate what is wrong
with the item in question. I this cannot be done, the consumer will suc-
ceed best by presenting specific information as to what iz wrong, rather
than by making general statements. For example, “The left speaker does
not work at all and the sound coming out of the right one is unclear” is
better than “This stereo does not work .~

The store manager may advise the consumer to write to the marmufac-

turer. If so, the consumer should do this, stating the complaint as polite-
.4 -



ly and as firmly as possible. But if a polite complaint does not achieve the
desired result, the conswiner can go a step further. She or he can threaten
to take the seller to court or report the seller to a private or public organi-
zation tesponsible for prolecting consumers’ right.
6. When a consumer finds that bis purchase has a fault in it, the first
thing he should do iz to _ L
A) complain personally to the manager
B) threaten to take the matter 1o court
C) show some written proof of the purchase to the store
D} write a fir letter of complaint to the store of purchase
7. If a consumer wants a quick settlement of his problem, it's better to
complain to
A) the store manager () the manufacturer
B) a shop assistant D) a puhlic organization
8. The most effective complaint can be made by
A) asking politely to change the item
B} showing the faulty item to the manufacturer
C) saying firmly that the item is of poor quality
D) explaining exactly what is wrong with the item

9. The phrase “live up to” (line 2, Para. L)} in the context means

A) realize the purpose of C) meet the standard of
B) fulfil the demands of D)} keep the promise of
i0. The passage tells us
A) how Lo make an effective complaint about a faulty item
B) how ta settle a consumer' s complaint about a faulty ilem
C) how to deal with complaints from customers

D) how to avoid buying a faulty item



Passage Three
Questions 11 to 15 are based on the following passage:

One hundred and thirteen million Americans have at least one bank
issued credit card. They give thelr owners avtomatic credit in stores,
restaurants, and hotels, at home, actoss Lhe couniry, and even abroad,
and they make many barking services available as well. More and more of
these credit cards can be read automatically, making it possible to with-
draw or deposit money in gcattered locations, whether or not the local
branch bank is open. For many of us the “eashless society” is not on the
horizon—it’ s already here.

While computers offer lhese conveniences to consumers, they have
meny advaniages for sellers too. Electronic cash registers can do much
more than simply zing up sales. They can keep a wide range of records,
including who sold what, when, and to whom. This information allows
businessmen to keep track of their list of goods by showing which items
are being sold and how fast they are moving. Decisions to reorder or re-
tum goods o suppliers can then be made. At the same time these comput-
ers tecord which hours are husiest and which employees are the most effi-
cient, allowing personnel and staffing assignments to he made according-
ly. And they also identify preferred customers for promotional campaigrs.
Computers are relied on by manufacturers for similar rcasons. Computer-
analyzed marketing reports can help to decide which products to empha-
size now, which to develop for the future, and which to drop. Computers
keep track of goods in stock, of raw materials on hand, and even of the
production process itself.

Numerous other commercial enterprises, from theaters to magazine
publishers, from gas and electric utilities to milk processors, bring better

and more efficient services 1o consumers through the use of computers.
6 -



It.

According to the passage, the eredit card enables its owner to

A) withdraw as much money {rom the bank as he wishes
B) obtain more convenient services than other people do
() enjoy greater trusl {rom the storekeeper

D) cash money wherever he wishes to

. The phrase “ning up siles in Sentence 2, Paragraph 2, most proba-

+

bly means __ ______
A} make an order of goods

B) record sales on a cash regster

(.} vall the sales manager

D) keep track of the goods in stock

Computers can do all of the following exeept
A) 1o do market research and analyze it

B) t help people cash money conveniently

) o help decide to reorder goods o suppliers

D) to repluce efficient employees for the personnel nanagers

. From the last gentence of the fust parsgraph we leam

A) in the future all the Americans will use credit cards
B) credit eards are mainly used in the United States 1oday
() nowadavs many Americans do nol pay in cash

[} it is now more consenient to use credit cards than before

. What is the passage mainly about”

A) Approaches to the commereial use of computers.
B} Conveniences hrought aboul by computers in business.,
() Singnificance of automation in commercial enterpriscs.

D} Advantages of credit cards in business.

that



Passage Four
Questions 16 to 20 are based on the following passage:

Insurance companies prnvide a service to the commumily by protect-
ing it against expected and unexpecled disasters . Before an insurance
company will agrec to insure anything, it collects accunale figures aboul
the risk. It knows, for example, that the nsk of a man being killed in a
plane accident is less than the risk he takes in crossing a busy road. This
enables it to quote low figures for travel insurance. Sometimes the risk
may be high, as in motor-racing or mountaineering. Then the company
charges a much higher price. T too many climbers have accidents, the
price mises still further. If the majority of climbers fall off mountains, the
company will refuse to insute them.

An ordinary householder may wish 1o potect his home against fire or
his property against burglary. A shop keeper may wish to insure against
theft. Tn normal cascs, the company will check its statistics and quole 2
premiom. I il is suspicious, it may refuse to quote. If it insures a shop
and then receives a suspicious claim, 1t will investigate ithe claim as a
means of protecting itsell agamsl false clams. Tt is not unknown for a
husinessman in debt 1o bum down his own premises so that he can claim
much money from his insurance company., He can be sure that the fire
will be investigated most carcfully. Insurance companies also accept in-
surance against shipwreck or disaster in the air. Planes and ships are very
expensive, so a large premium is charged, but a reduction is given to
companies with an accident-free record.

Every week, insurance companies receive premium paymenls from
cuslomers. These payments can form a very large lotal running into mil-
lions of dollars. The company does not leave the money in the bank. I
invests in property, shares, farms and even antique paintings and stamps .
Its aim is to obtain the best possible retum on its investment. This i« not

* 8 .



as greedy as it may seem, since this is one way by which it can keep its
premiums down and continue to make a profit while being of serviee 10 the

community .

16. According to the first pargraph, which of the following statements is
TRUE?
A) A passenger by air will take greater visk of heirg killed than a
man croséing a bosy mad.
B) A passenger by air will 1ake less risk of being killed than a man
crossing a busy road,
C) A passerger by air will have to pay more to the insurmee compa-
nv than a mountain climber.
D} A motonst should pay the highest price to the insurance compa-
ny.
[7. From the passage wo know that il sceidents will happen nine times
oul of ten, the insurance company will _
A) charge a lower price
[39)] give a much higher price
C) tuote the highest price
D} not provide its insurance service
18. if a shop owner in debt destroved his own houses, his purpose would

most probably be (o _ .

A} lower the premium he should pay to the insurance company
B} abtain a large suni of money from the msurance company
C) clean up the surrounding circumstances
D} ask the insurance company to help him 1o rebuild his shop
19, Accordirg to the passuge, if an airline has an aceidentfree record, it
usually pays _ _ _  _ to the insurance company,
A) no premium

B} less premium



